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yes

.01 <RATIO< 0.0
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RATIO>0.03
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SUBROUTINE
COMP

FEC,,C,,C,,C,

CALL SUBROUTINE SOL
0, X*+C3X%+C, X+C =0
ZiRrX

2XP.—1.78,f tbx?

Ay =
" T Xf,-0.85f.X—61204+6120X

o =A,t /bh

0 yes

NO
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SLARGE
c $NOFLOATCALLS
C DATTIM.FOR program - To access the date and time:

INTERFACE TO SUBROUTINE TIME (N,STR)
CHARACTER*10 STR [NEAR, REFERENCE]
INTEGER*2 N [VALUE]

END

INTERFACE TO SUBROUTINE DATE (N,STR)
CHARACTER*10 STR [NEAR, REFERENCE]
INTEGER*2 N [VALUE]

END

SUBROUTINE DAT (IA)

CHARACTER*10 DSTR

CALL DATE (10,DSTR)

IF(IA.EQ.0) THEN

WRITE (=,30) 'DATE=',6DSTR

ELSE

WRITE (IA,30) 'DATE=',DSTR
30 FORMAT(/,3X,A5,1X,Al10)

ENDIF

RETURN

END

SUBROUTINE TIM (IA)

CHARACTER*10 TSTR

CALL TIME (10,TSTR)

IF(IA.EQ.Q0) THEN

WRITE (*,30) 'TIME=',KTSTR

ELSE

WRITE (LA,30) 'TIME=',6 TSTR
30 FORMAT(/,3X,AS5,1X,Al10)

ENDIF

RETURN

END

PROGRAM PROJECT

COMMON/A/ NJ,NM,NX,6NY,6NZ,NHB, NEQ

COMMON/B/ E,G,WD,WL(10),2Z,KK,CC, 1I,HH, CP, WP

DIMENSIDN 0(30000)

CALL DAT(O0)

CALL TIM(O0)

OPEN(4, FILE="'ECHO,OUT',STATUS="NEW')

OPEN(S,FILE='PROJ2.DAT',STATUS='OLD')

OPEN(G,FILE='PROJ2.0UT',STATUS='NEW’)

0PEN(7,FILE='FORCE.OUT',STATUS='NEW')

CALL DAT(6)

CALL TIM(6) : :
CH* NX 1S THE NUMBER OF BAYS IN THE SHORTER DIRECTION OF HORIZONTAL
C** NY IS THE NUMBER OF BAYS IN THE LONGER DIRECTION OF HORIZONTAL
C** NZ IS THE NUMBER OF FLOORS
Cx* NJ 1S THE NUMBER OF NODES
C** NM IS THE NUMBER OF MEMBERS

READ(5,*) NX,NY,NZ

NJ=(NX+1)*(NY+1)*(NZ+1)

NM=NZ* ( 3*NX*NY+2*NX+2*NY+1)

NHB=6*( (NX+1)*(NY+1)+1)

NEQ=6*NJ

I2=1+NJ

I3=12+NJ

I4=13+NJ

I5=14+NM

I16=I5+NM

17=16+NM
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cc

cC

cC

207

10

201

20

25

202

30

40

I8=17+NM

I19=I8+NM

I110=I9+NM

I11=I10+NM

I12=I11+NM

MAX=NHB* ( 2*NEQ-NHB+1)/2

I13=I12+NEQ

I114=I13+MAX

IF(Y14-1.GT.30000) THEN

WRITE(*,6207)

FORMAT(/,3X, '*** The problem size is too big. ***')

STOP

ENDIF

SUBROUTINE MESH(X,Y,Z,JA,JB,B,D,JIR)

CALL MESH(O(1),0(12),0(I3),0(I4),0(15),0(I6),0(17),0(18))
write(*,*) 'mesh pass’

ITRN=0

ITRN=ITRN+1

WRITE(*,201) ITRN

FORMAT(/,5X, 'ITERATION NO. ',6I2)

DO 20 I=I13,114-1

0(I)=0.

CONTINUE

DO 25 I=19,I11-1

0(I)=0.

CONTINUE

SUBROUTINE STIFF(X,Y,Z,JA,JB,B,D,JIR,GK, ITRN)

CALL STIFF(0O(1),0(I2),0(I3),0(I4),0(I5),0(16),0(17),0(18),0(I13)
* ITRN)
write(*,*)'stiff pass'
SUBROUTINE MITBC1l(GK)
CALL MITBC1(0(Il13))
write(*,*)'mitbcl pass'
SUBROUTINE TRIB(GK)
CALL TRIB(O(I13))
write(*,*)'trib pass'
DO 40 KC=1,3
WRITE(*,202) KC

FORMAT( 25X, 'LOADING CASE NO. ',6I2)
DO 30 I=I11,I13-1

O(I)=0.

CONTINUE

SUBROUTINE LOAD(X,Y,Z,JA,JB,B,D,JIR,Q,P,KC,ITRN)
CALL LOAD(0O(1),0(12),0(I3),0(I4),0(I5),0(I6),0(17),0(1I8),0(111),
* 0(I12),KC,ITRN)

write(*,*)'load pass'

SUBROUTINE MITBC2(P)

CALL MITBC2(0(Il2))

write(*,*)'mitbc2 pass’

SUBROUTINE RHSUB(GK,P)

CALL RHSUB(O(I13),0(I12))

write(*,*)'rhsub pass’'

SUBROUTINE SECTN(X,Y,2,JA,JB,B,D,JIR,BL,DL,Q,P)
CALL SECTN(O(1),0(12),0(13),0(I4),0(15),0(16),0(17),0(18),0(19),
* 0(I10),0(I11),0(112))
write(*,*)'sectn pass'

CONTINUE

CALL CHECK(B,D,BL,DL)

CALL CHECK(O(I6),0(17),0(1I9),0(I10),ITRN, IERR)
write(*,*)'check pass'
IF(IERR.GT.Q.AND.ITRN.LT.10) GO TO 10

CALL TIM(O)

CALL TIM(6)

STOP

END
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SUBROUTINE MESH(X,Y,Z,JA,JB,B,D,JIR)
COMMON/A/ NJ,NM, NX,NY,NZ,NHB, NEQ
COMMON/D/ RX(10),RY(10),RZ(10)
DIMENSION X(*),Y(*),Z(*),JA(*),JIB(*),B(*),D(*),JIR(*)
Ck* RX(I) IS THE LENGTH OF EACH BAY IN THE NX DIRECTION
Cx* RY(I) IS THE LENGTH OF EACH BAY IN THE NY DIRECTION
C*=* RZ(I) IS THE HEIGHT OF EACH FLOOR
READ(5,*) (RX(I),I=1,NX)
READ(5,*) (RY(I),I=1,6NY)
READ(5,*) (RZ(I),I=1,NZ)
C** GENERATE THE NODAL COORDINATES
T=0.
L=0
DO 20 I=1,NZ+1
S$=0.
DO 10 J=1,NY+1l
R=0.
DO 5 K=1,NX+1
L=L+1
X(L)=R
Y(L)=S
Z(L)=T
IF(K.LE.NX) R=R+RX(K)
5 CONTINUE
IF(J.LE.NY) S=S+RY(J)
10 CONTINUE
IF(I.LE.NZ) T=T+RZ2(I)
20 CONTINUE
WRITE(4,101)
101 FORMAT(//,1X, 'NODAL POINT COORDINATES:',//,
* 7%, 'NODE', 15X, 'X',14%,'Y",14X,'2',/)
DO 25 I=1,NJ ’
WRITE(4,102) I,X(I),¥(I),Z(I)
102 FORMAT(5X, 15, 8X,3G15.5)
25 CONTINUE
Ck* GENERATE THE TWO END NODES OF EACH MEMBER AND
Cx* ESTIMATE THE WIDTHS AND DEPTHS OF EACH MEMBER
L=0
M1=0
M2=(NX+1)*(NY+1)
CO 60 I=1,N2
N1=Ml
N2=M2
0O 35 J=1,NY+1
DO 30 K=1,NX+1
L=L+1
CA(L)=N1+K
CB(L)=N2+K
B(L)=RZ(I)/10.
D(L)=B(K)
JIR(L)=3
30 CONTINUE
M1=N1+(NX+1)
M2=N2+(NX+1)
35 CONTINUE
MN1=M2
DO 45 J=1,NY+1
DO 40 K=1,NX
L=L+1
JA(L)=N1+K
JB(L)=JA(L)+1
D(L)=RX(K)/12.
B(L)=D(L)/2.
JIR(L)=1
40 CONTINUE
N1=N1+(NX+1)



45

50

55

60

103

104
80

10

20
30

CONTINUE

N1l=M2
N2=N1+(NX+1)
DO 55 J=1,NY
DO 50 K=1,NX+1
L=L+1
JA(L)=N1+K
JB(L)=N2+K
D(L)=RY(J)/12.
B(L)=D(L)/2.
JIR(L)=2
CONTINUE

Ni=N2
N2=N2+(NX+1)
CONTINUE

M1=M2
M2=M2+(NX+1)*(NY+1)
CONTINUE
WRITE(4,103)

FORMAT(//,1X, 'DATA ABOUT MEMBERS:',//,

* 5X, 'ELEM NO.',8X, 'NODE A',4X, 'NODE B',5X, 'WIDTH',7X,
* "DEPTH', /)

DO 80 I=1,NM

WRITE(4,104) I,JA(I),JB(I),B(I),D(I)
FORMAT(5X, IS5, 5X,2110,2F12.2)

CONTINUE

RETURN

END

SUBROUTINE STIFF(X,Y,Z,JA,JB,B,D,JIR,GK, ITRN)

COMMON/A/ NJ,NM, NX,NY,NZ, NHB, NEQ

COMMON/B/ E,G,WD,WL(10),ZZ,KK,CC, II,HH,CP,WP

COMMON/F/ FC,FY

DIMENSION X(*)},Y(*),Z2(*),JA(*),JB(*),B(*),D(*),JIR(*),GK(*),

* ID(12),RK(78)

LC(I,L)=I+L*NEQ-L*(L-1)/2

READ(S,*) E,G

IF(ITRN.EQ.1) READ(5,*) FC,FY

E=15000.*SQRT(FC)

G=E/2.4

DO 30 K=1,NM

J1=JA(K)

J2=JB(K)

CALL ELEMK(X(J1),Y(J1),Z(J1),X(J2),¥(J2),2(J2),B(K),D(K),IJIR(K),
RK)

ID(1)=6*J1-5
ID(7)=6%J2-5

DO 10 I=2,6
ID(I)=ID(I-1)+1
ID(6+I1)=ID(5+I)+1
CONTINUE

L=0

DO 20 J=1,12

DO 20 1-1,J

L=L+1

IF(ID(J).GE.ID(I)) THEN
IJ=LC(ID(I),ID(J)-ID(I))
ELSE
IJ=LC(ID(J),ID(I)-ID(J))
ENDIF
GK(IJ)=GK(IJ)+RK({L)
CONTINUE

CONTINUE

RETURN

END
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SUBROUTINE ELEMK(XA,YA,2A,XB,YB,ZB,B,D,JIR,RK)
COMMON/B,/ E,G,WD,WL(10),22,KK,CC,II,HH,CP,WP
COMMON/C/ AX,AY,AZ,BX,BY,Bz,CX,CY,CZ
DIMENSION RK(78)

IF(JIR.EQ.1) THEN

RL=XB-XA

ELSE IF(JIR.EQ.2) THEN

RL=YB-YA

ELSE

RL=ZB-ZA

ENDIF

CALL ABC(JIR)

A=B*D

RIZ=B*D*D*D/12.

RIY=D*B*B*B/12.

RJIX=RIY+RIZ

S1=E*A/RL

S2=12.*E*RIZ/RL**3
S3=12.*E*RIY/RL**3

S4=6.*E*RIZ/RL**2

S5=6.*E*RIY/RL**2

S6=4.%E*RI1Z/RL

S7=4.%E*RIY/RL

S8=G*RJX/RL

C*************i*********************************************************
RK(1)=S1*AX*AX+S25BX*BX+S3*CX*CX
RK(2)=S1*AX*AY+S2¥BX*BY+S3*CX*CY
RK(3)=S1*AY*AY+S2*BY*BY+S3*CY*CY
RK(4)=SI*AX*AZ+S2*BX*BZ+S3*CX*CZ
RK(5)=SY*AY*AZ+S2*BY*BZ+S3*CY*CZ
RK(6)=S1*AZ*AZ+S2*¥BZ*BZ+S3*CZL*CZ

Ci—**********************k************************************************
RK(7)=S4*BX*CX~S5*%CX*BX
RK(8)=84*%BY*CX~S5%CY*BX
RK(9)=S4*BZ*CX~S5*CZ*BX
RK(11)=S4*BX*CY-S5*CX*BY
RK(12)=S4*BY*CY-S5*CY*BY
RK(13)=S4*B2*CY-SS*CZ*BY
RK(16)=S4*BX*CZ-S5*CX*BZ
RK(17)=S4*BY*CZ-S5*CY*BZ
RK(18)=S4*B2*CZ-S5*%CZ*BZ

Ck**********************************************************************
RK(10)=SB8*AX*AX+S7*BX*BX+S6*CX*CX
RK(14)=S8*AX*AY+S7*BX*BY+S6*CX*CY
RK(15)=58*AY*AY+S7*BY*BY+S6*CY*CY
RK({19)=58*AX*AZ+S7*BX*BZ+S6*CX*CZ
RK(20)=SB*AY*AZ+S7*BY*BZ+S6*CY*CZ
RK(21)=S8*A2Z*AZ+S7*BZ*BZ+56*CZ*C2Z

c***********************************************************************
RK(22)=-RK(1)

RK(23)=-RK(2)
RK(24)=-RK(4)
RK(29)=-RK(2)
RK(30)=-RK(3)
RK(31)=-RK(5)
RK(37)=-RK(4)
RK(38)=-RK(5)
RK(39)=-RK(6)

ChrARIKAKRKRRER KA IR KKK RE KRR RKRI KRR AR IR AR AR AR AR A AA KA AR T AR KRR AR IR KRN kIR Rk Ak
RK(25)=S5*BX*CX-S4*CX*BX
RK(26)=S5*BY*CX-S4*CY*BX
RK(27)=S5%BZ*CX-S4*CZ*BX
RK(32)=S5*BX*CY-S4*CX*BY
RK(33)=S5*%BY*CY~-S4*CY*BY
RK({34)=S5*BZ*CY-S4*CZ*BY
RK(40)=S5%BX*CZ-S4*CX*BZ
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RK(41)=55*BY*CZ-S4*CY*BZ
RK(42)=S5*BZ*CZ-S4*CZ*BZ
Chdekkdhddedhhhhhh kR hhdrhhddkkdkdhhhhohdhdhhhhddd e dk sk khdhhdddkdihkdhkkdss
RK(28)=RK(1)
RK(35)=RK(2)
RK(36)=RK(3)
RK(43)=RK(4)
RK(44)=RK(5)
RK(45)=RK(6)
ot L L L L T L T
RK(46)=RK(7)
RK(47)=RK(8)
RK(48)=RK(9)
RK(56)=RK(11)
RK(57)=RK(12)
RK(58)=RK(13)
RK(67)=RK(16)
RK(68)=RK(17)
RK(69)=RK(18)
ChIIRAIKIRIKRKIAKIKRKIAR KA KRKARRK AR AR kAR ARk ARk hkh sk ko ks kk ek ddkhdk kkd AR
RK(49)=-SB*AX*AX+0.5*S7*BX*BX+0.5*S6*CX*CX
RK(50)=-S8*AY*AX+0.5*%S7*BY*BX+0.5%S6*CY*CX
RK(51)=-S8*AZ*AX+0.5*%S7*BZ*BX+0.5*S6*CZ*CX
RK(59)=-S8*AX*AY+0.5*S7*BX*BY+0.5*SH*CX*CY
RK(60)=-S8*AY*AY+0.5*%*S7*BY*BY+(0.5*S6*CY*CY
RK(61)=-S8*AZ*AY+0.5*S7*BZ*BY+0.5%3S6*CZ*CY
RK(70)=~-SB*AX*AZ+0.5*S7*BX*BZ+0.5*S6*CX*CZ
RK(71)»-SB8*AY*AZ+0.5%S7*BY*BZ+0.5%S6*CY*CZ
RK(72)=-S8*AZ*AZ+0.5*S7*BZ*BZ+0.5*S6*CZ*C2Z
[ R e L T e L T f L L E L TP,
RK(52)=-RK(7)
RK(53)=~RK(8)
RK(54)=-RK(9)
RK(62)=-RK(11)
RK(63)=-RK(12)
RK(64)=-RK(13)
RK(73)=-RK(16)
RK(74)=-RK(17)
RK(75)=-RK(18)
Chdkrdddk kAR hA Rk ok kAR AR AR de ok dok ok ok o ok sk ok ok ok ok de e i ok ok ok o ok ok ok ok e ok ok ok o o o o ok o ke ok
RK(55)=RK(10)
RK(65)=RK(14)
RK(66)=RK(15)
RK(76)=RK(19)
RK(77)=RK(20)
RK(78)=RK(21)
RETURN
END

SUBROUTINE ABC(JIR)
COMMON/C/ AX,AY,AZ,BX,BY,BZ,CX,CY,CZ
AX=0.

AY=0.

AZ=0.

BX=0.

BY=0.

BZ=0.

CX=0.

Cy=0.

CZ=0. .

IF(JIR.EQ.1) THEN
AX=1.

B2=1.

Cy=-1.

ELSE IF(JIR.EQ.2) THEN
AY=1,

BZ=1.



CX=l.
ELSE
AZ=1l.
BX=1l.
Ccy=1.
ENDIF
RETURN
END

SUBROUTINE MITBC1(GK)
COMMON/A/ NJ,NM,NX,NY,NZ, NHB, NEQ
DIMENSION GK(*)
LC(I,L)=I+L*NEQ-L*(L-1)/2
NH=NHB~-1
DO 50 IU=1,6%(NX+1)*(NY+1)
GK(1U)=1.
I1=IU-NH
IF(I1.LT7.1) Il=1
DO 10 I=I1l,IU-1
GK(LC(I,IU-I))=0.

10 CONTINUE
J2=IU+NH
IF(J2.GT.NEQ) J2=NEQ
DO 30 J=1U+1,J2

30 GK(LC(IU,J-1IU))=0.

50 CONTINUE
RETURN
END

SUBROUTINE TRIB(GK)
COMMON/A/ NJ,NM,NX,NY,NZ, NHB, NEQ
DIMENSION GK(*)
LC(I,L)=I+L*NEQ—L*(L—1)/2
NH=NHB-1
DO 20 K=1,NEQ-1
IF(GK(K).LT.1.0E-20) THEN
WRITE(*,201) K
WRITE(6,201) K

201 FORMAT(//,3X,'*** TINY PIVOT OCCURS IN ROW', 1I5)
STOF
ENDIF
I1=K+1
I2=K+NH
IF(I2.GT.NEQ) I2=NEQ
Do 20 I=I1,I2
KI=LC(K, I-K)
C=GK(KI)/GK(K)
DO 20 J=I,I2
I1J=LC(I,J-I)
KJ=LC(K,J-K)
GK(1J)=GK(IJ)-C*GK(KJ)

20 CONTINUE
IF(GK(NEQ).LT.1.0E-20) THEN
WRITE(*,201) NEQ
WRITE(6,201) NEQ
STOP
ENDIF
RETURN
END

SUBROUTINE LOAD(X,Y,Z,JA,JB,B,D,JIR,Q,P,KC,ITRN)
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REAL ZZ,KK,CC,II,HH,LF
COMMON/A/ NJ,NM, NX,NY,NZ,K NHB, NEQ
COMMON/B/ E,G,WD,WL{10),2Z,KK,CC,II,6HH,CP, WP
COMMON/D/ RX(10),RY{(10),RZ{(10)
DIMENSION X(*),Y(*),Z(*),6JA(*),JB(*),B(*),D(*),JIR(*),P(*),Q(*),
* WH(11),HP{11),6FH(11)
Ck* CALCULATE THE DEAD LOADS
C** Y~COORDINATE WAS ASSUMED TO BE THE GRAVITY DIRECTICON
C*x WD IS THE UNIT WEIGHT OF REINFORCED CONCRETE
Cx* THE UNIT OF WD IS (WEIGHT/UNIT VOLUME OF REINFORCED CONCRETE)
WD=0.0024
TOTW=0.
DO 5 J=1,NZ+1
5 WH(J)=0.
IF(KC.EQ.1) THEN
LF=1.4
ELSE
LF=0.75%1.4
ENDIF
M=0
DO 20 J=1,N2Z
DO 10 I=1, (NX+1)*(NY+1l)
N=M+I
J1i=JA(N)
J2=JB(N)
Q(N)=LF*WD*B(I)*D(I)
TW=WD*B(I)*D(1)*RZ(J)
TOTW=TOTW+TW
P(6*J1-3)=P(6*J1-3)-LF*TW/2.
P(6*J2-3)=P(6*J2-3)-LF*TW/2.
WH(J)=WH(J)+TW/2.
WH(J+1)=WH(J+1)+TW/2.
10 CONTINUE
M=M+{NX+1)*(NY+1)+NX*(NY+1 )+ (NX+1)*NY
20 CONTINUE
M= (NX+1)*{NY+1)
DO 50 K=1,NZ
Ml=M
M2=M+NX*(NY+1)
DO 40 I=1,6NY
DO 30 J=1,NX
N1=M1+J
N2=M1+J+NX
N3=M2+J
N4=N3+1
CALL ALIGN(TOTW,RX(J),RY(I),¥D,N1,N2,N3,N4,B,D,JA,JB,Q,P,WH,K+1,
* LF) :
30 CONTINUE
M1=M1+NX
M2=M2+NX+1
40 CONTINUE
M=M+NX* (NY+1)+(NX+1 )*NY+(NX+1)*(NY+1)
50 CONTINUE .
WRITE(4,*) 'THE DEAD WEIGHT OF EACH FLOOR'
DO 53 I=1,NZ+1
WRITE(4,221) I,WH(I)
221 FORMAT(5X, 'LAYER NO.',6I3,5%,F10.3)
53 CONTINUE
DO 55 I=1,NM
JA(I)=IABS(JA(I))
55 CONTINUE
Ck* CALCULATE THE LIVE LOADS
Cx* WL IS THE MINIMUM LIVE LOAD REQUIREMENT SPECIFIED BY THE CODE
C*x WL SHOULD INCLUDE THE WEIGHT OF PARTITION WALL AND FURNISHING
Cx* THE UNIT OF WL IS (WEIGHT/UNIT FLOOR AREA)
IF(KC.EQ.1) THEN
LF=1.7
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ELSE
LF=0.75%*1.7
ENDIF
IF(ITRN.EQ.1.AND.KC.EQ.1) READ(5,*) (WL(I),I=1,(NZ)
M= (NX+1)*(NY+1) .
DO 80 K=1,NZ
M1l=M
M2=M+NX*(NY+1)
DO 70 I=1,NY
DO 60 J=1,NX
N1=M1+J
N2=M1+J+NX
N3=M2+J
N4=N3+1
CALL BLIGN(RX(J),RY(I),WL(K),N1,N2,N3,N4,JA,JB,Q,F, LF)
60 CONTINUE
M1=M1+NX
M2=M2+NX+1
70 CONTINUE
M=M+NX*(NY+1 )+ (NX+1)*NY+(NX+1)*(NY+1)
80 CONTINUE
WRITE(4,232) TOTW
232 FORMAT(/,'THE TOTAL DEAD LOAD =',6F10.2)
C** CALCULATE THE EQRTHQUAKE LOADS
Cx* HH IS THE HEIGHT ABOVE GROUND
Cx* V=Z*K*C*I*W ( VV=ZZ*KK*CC*II*TOTW )
IF(KC.EQ.1) RETURN
LF=0.75%1.87
IF(ITRN.EQ.1.AND.KC.EQ.2) READ(5,*) zZZ,KK,CC,6II
IF(ITRN.EQ.1.AND.KC.EQ.2) READ(5,*) HH
I=2
HTOT=Z(NJ)
DO 60 J=1,NZ
HTOT=HTOT~RZ(J)
IF(HTOT.LT.HH) GO TO 92
I=I+1
90 CONTINUE
92 DO 94 J=1,I-1
94 TOTW=TOTW-WH(J)
WRITE(4,232) TOTW
VV=ZZ*KK*CC*II*TOTW
WRITE(4,233) wW
233 FORMAT(/,5X, 'THE TOTAL HORIZONTAL FORCE = ',6F10.3)
VVaLF*yy
HO=HH
DO 96 J=NZ+1,I,-1
HP(J)=HO
HO=HO-RZ(J-1)
96 CONTINUE
TWH=0.
DO 98 J=I,NZ+1
TWH=TWH+WH(J)*HP(J)

98 CONTINUE
WRITE(4,234) TWH
234 FORMAT(/,5X, 'THE SUMMATION OF W(I)*H(I) = ',6F15.3)

IF(ITRN.EQ.1.AND.KC.EQ.2) READ(5,*) CP,6WP
FP=2Z*II*CP*WP
WRITE(4,235) FP
235 FORMAT(/,5X, 'THE CONCENTRATED LOAD AT ROOF = ',F10.3)
FP=LF*FP
DO 99 J=I,NZ+1
99 FH{J)=VV*(WH(J)*HP(J)/TWH)
FH{NZ+1)=FH(NZ+1)+FP
DO 101 J=I,NZ+1
WRITE(4,236) J,FH(J)
236 FORMAT(S5X, 'LAYER NO.',I3,'THE HORIZONTAL FORCE = ',F10,3)
101 CONTINUE :
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IF(KC.EQ.2) THEN
TY=0.
DO 120 J=1,NY
TY=TY+RY(J)

120 CONTINUE
DO 150 J=I,NZ+1
N1l=(J-1)*(NX+1)*(NY+1)+1
DO 130 K=1,NY+l
IF(K.EQ.1) THEN
C=(0.5*RY(1))/TY
ELSE IF(K.EQ.NY+1l) THEN
C=(0.5*RY(NY))/TY
ELSE
C=0.5*%(RY(K-1)+RY(K))/TY
ENDIF
P(6*N1-5)=P(6*N1-5)+C*FH(J)
WRITE(4,238) N1,6*N1-5,P(6*N1-5)

238 FORMAT(/,5X,'NODE NO.',13,' D.O.F. ',I3,8X,G13.5)
N1=N1+{NX+1)

130 CONTINUE

150 CONTINUE
ELSE
TX=0.
DO 160 J=1,NX
TX=TX+RX(J)

160 CONTINUE
DO 190 J=I,NZ+1
N1=(J-1)*(NX+1)*(NY+1)+1
DO 170 K=1,NX+1
IF(K.EQ.1) THEN
C=(0.5*RX(1))/TX
ELSE IF(K.EQ.NX+1) THEN
C=(0.5%RX(NX))/TX
ELSE
C=0.5*%(RX(K~1)+RX(K))/TX
ENDIF
P(6*N1-4)=P(6*N1-4)+C*FH(J)
WRITE(4,238) N1,6%N1-4,P(6*N1-4)
N1=N1+1

170 CONTINUE

190 CONTINUE
ENDIF
RETURN
END

SUBROUTINE ALIGN({TOTW,AA,BB,WD,N1,N2,N3,N4,B,D,JA,JB,Q,P, WH,K,LF)
REAL LF

COMMON/A/ NJ,NM,NX, NY,NZ, NHB, NEQ
DIMENSION B(*),D(*),JA(*),IB(*),Q(*),P(*), WH(*)
T=15.

IF(AA.GT.BB) THEN
Al=BB/4.*(2.*AA-BB)

A2=BB**2/4.

ELSE

Al=AA**2/4,

A2=AA/4.*(2.*BB-AA)

ENDIF

W1=WD*A1*T/AA

W2=WD*A2*T/BB

IF{JA(N1).GT.0) THEN
WW=W1+WD*B(N1)*D(N1)

J1=JA(N1)

JA(N1)=-J1

ELSE

WW=W1

J1=-JA(N1)

ENDIF



Q(N1)1=Q(N1)+LF*WW

WH(K)=WH(K)+WW*AA

TOTW=TOTW+WW*AA
P(6*J1-3)=P(6*J1-3)~LF*WW*AA/2.
P(6*%J1-1)=P(6*J1-1)+LF*WW*AAXAA/12.
P(6*JB(N1)-3)=P(6*JB(N1)-3)-LF*WW*AA/2.
P(6*JB(N1)~-1)=P(6*JB(N1)~-1)-LF*WW*AA*XAA/12.
IF(JA(N2).GT.0) THEN
WW=W1+WD*B(N2)*D(N2)

J1=JA(N2)

JA(N2)=-J1

ELSE

WW=W1

J1=~JA(N2)

ENDIF

Q(N2)}=Q(N2)+LF*WW

WH(K)=WH(K)+WW*AA

TOTW=TOTW+WW*AA
P(6*J1-3)=P(6*J1-3)~LF*WW*AA/2.
P(6*J1-1)=P(6*J1~1)+LF*WW*AA*AA/12.
P(6*JB(N2)-3)=P(6*JB(N2)-3)-LF*WW*AA/2.
P(6*JB(N2)~1)=P(6*IB(N2)-1)-LF*WW*AA*AA/12.
IF(JA(N3).GT.0) THEN
WW=W2+WD*B(N3)*D(N3)

J1=JA(N3)

JA(N3)=~J1

ELSE

WW=W2

J1==JA(N3)

ENDIF

Q(N3)=Q(N3)+LF*WW

WH(K)=WH(K)+WW*BB

TOTW=TOTW+WW*BB
P(6*%J1-3)=P(6*J1-3)-LF*WW*BB/2.
P(6%J1-2)=P(6*J1-2)-LF*WW*BB*BB/12.
P(6*JB(N3)~3)=P(6*IB(N3)-3)-LF*WW*BB/2.
P(6*JB(N3)~2)=P(6*IB(N3)-2)+LF*WW*BB*BB/12.,
IF(JA(N4).GT.0) THEN

WW=W2+WD*B(N4 )*D(N4)

J1=JA(N4) ’

JA(N4)=-J1

ELSE

WW=W2

J1=-JA(N1)

ENDIF

Q(N4)=Q(N4)+LF*WW

WH(K)=WH(K)+WW*BB

TOTW=TOTW+WW*BB
P(6*J1-3)=P(6*J1-3)-LF*WW*BB/2.
P(6*J1-2)=P(6*J1-2)~-LF*WW*BB*BB/12.
P(6*JB(N4)-3)=P(6*IB(N4)-3)-LF*WW*BB/2.
P(6%JB(N4)-2)=P(6*IB(N4)-2)+LF*WW*BB*BB/12.
RETURN

END

SUBROUTINE BLIGN(AA,6BB,WL,N1,6N2,N3,N4,JA,J8,Q,P,LF)
COMMON/A/ NJ,NM,NX,6NY,NZ,NHB,6NEQ
REAL LF

DIMENSION JA(*),JB(*),Q(*),P(*)
IF(AA.GT.BB) THEN
Al=BB/4.*(2.*AA-BB)

A2=BB**2/4.

ELSE

Al=AR**2/4.,

A2=AA/4.*(2.*BB-AA)

ENDIF

W1l=WL*Al/AA



g0

20

40
60

W2=WL*A2/BB

Q(N1)=Q(N1)+LF*Wl
P{6*JA(N1)-3)=P(6*JA(N1)-3)-LF*W1*AA/2.
P(6*JA(NL1)-1)=P(6*JA(N1)-1)+LF*W1l*AA*AA/12.
P(6*JB(N1)-3)=P(6*JB(N1)~-3)~LF*W1*AA/2.
P(6*JB(N1)-1)=P(6*JB(N1)-1)-LF*W1*AA*AR/12.
Q(N2)=Q(N2)+LF*Wl
P(6*JA(N2)-3)=P(6*JA(N2)-3)-LF*W1*AA/2,
P(6*JA(N2)-1)=P(6*JA(N2)-1)+LF*W1*AA*AA/12.,
P(6*IB(N2)-3)=P(6*JB(N2)~3)-LF*W1*AA/2.
P(6*JB(N2)-1)=P(6*JB(N2)~1)-LF*W1*AA*AA/12.
Q(N3)=Q(N3)+LF*W2
P(6*JA(N3)-3)=P(6*JA(N3)-3)-LF*W2*BB/2.
P(6*JA(N3)-2)=P(6*JA(N3)-2)-LF*W2*BB*BB/12.
P(6*JB(N3)~3)=P(6*JB(N3)-3)-LF*W2*BB/2.
P(6*JB(N3)-2)=P(6*JB(N3)-2)+LF*W2*BB*BB/12.
Q(N4)=Q(N4)+LF*W2
P(6*JA(N4)-3)=P(6*JA(N4)-3)-LF*W2*BB/2.
P(6*JA(N4)-2)=P(6*JA(N4)-2)-LF*W2*BB*BB/12.
P(6*JB(N4)-3)=P(6*JB(N4)-3)-LF*W2*BB/2.
P(6*JB(N4)-2)=P(6*JB(N4)~2)+LF*W2*BB*BB/12.
RETURN

END

SUBROUTINE MITBC2(P)

COMMON/A/ NJ,NM,NX,6NY,6NZ,NHB, NEQ
DIMENSION P(*)

DO 50 IU=1,6*(NX+1)*(NY+1)
P(IU)=0.

CONTINUE

RETURN

END

SUBROUTINE RHSUB(GK,P)
COMMON/A/ NJ,NM,6NX,NY,éNZ, NHB, NEQ
DIMENSION GK(*),P(*)
LC(I,L)=I+L*NEQ-L*(L-1)/2
NH=NHB~1

N1=NEQ-1

DO 20 K=1,N1

Il=K+1

12=K+NH

IF(12.GT.NEQ) I2=NEQ

DO 20 I=I1,12

KI=LC(K, I-K)
P(1)=P(I)-(GK(KI)/GK(K))*P(K)
CONTINUE
P(NEQ)=P(NEQ)/GK(NEQ)

DO 60 I=N1,1,-1

SUM=0.

Jl=I+1

J2=I+NH

IF(J2.GT.NEQ) J2=NEQ

DO 40 J=J1,J2
I1J=LC(I1,J-I)
SUM=SUM+GK(IJ)*P(J)
CONTINUE
P(I)=(P(I)-SUM)/GK(I)
CONTINUE

RETURN

_END

I-31



SUSROUTINE SECTN(X,Y,Z,JA,JB,B,D,JIR,BL,DL,Q,P)

REAL MX1,MY1l,MZ1,MX2,MY2,MZ2, MMZ, MMY,MC

COMMON/A/ NJ,NM,NX,NY,NZ, NHB, NEQ

COMMON/B/ E,G,WD,WL(10),232,KK,CC, II,HH,CP, WP
COMMON/C/ AX,AY,AZ,BX,BY,BZ,CX,CY,CZ

DIMENSION X(*),Y(*),Z(*),JA(*),JdB(*),B(*),D(*),JIR(*),

* BL(*),DL(*),0(*),P(*)
WRITE(7,101)

101 FORMAT(////,1X,'OUTPUT FOR NODAL DISPLACEMENTS:',//,
* 1X, 'NODE',7X, 'u',10X, 'v',10%, 'w', 10X, 'Q-x', 8X,
* '‘Q-y',8%,'Q-z",/)

DO 30 K=1,NJ
WRITE(7,102) K,(P(I),I=6*K-5,6%K)
102 FORMAT(2X,I3,2X,6G1l1.4)
30 CONTINUE
DO 50 K=1,NM
WRITE(7,103) K
103 FORMAT(/,1X, 'MEMBER FORCE OUTPUT FOR ELEMENT ',I3,//,
1X, 'NODE', 6X, 'F-X',8X, 'F-Y',8X,'F-2',8X, '"M-X",
* 8X, 'M-Y',8X, 'M-2"')
IF(JIR(K).EQ.1) THEN
RL=X{JB(K))-X(JA(K))}
ELSE IF(JIR(K).EQ.2) THEN
RL=Y(JB(K))-Y(JA(K))
ELSE
RL=Z(JB(K))~Z{JA(K))
ENDIF
CALL ABC(JIR(K))
DU=P{6*JA(K)-5)-P(6*JB(K)-5)
DVaP(6*JA(K)-4)-P(6*IB(K)-4)
DW=P(6*JA(K)=-3)-P(6*IJB(K)-3)
DUI=AX*DU+AY*DV+AZ*DW
DVI=BX*DU+BY*DV+BZ*DW
DWI=CX*DU+CY*DV+CZ*DW
TX1=AX*P({6*JA(K)-2)+AY*P(6*JA(K)-1)+AZ*P(6*JA(K))
TY1=BX*P(6*JA(K)~-2)+BY*P(6*JA(K)-1)+BZ*P(6*JA(K))
TZ1=CX*P(6*JA(K)~-2)+CY*P(6*JA(K)-1)+CZ*P(6*JA(K))
TX2=AX*P(6*JB(K)-2)+AY*P(6*IB(K)~1)+AZ*P(6*JA(K))
TY2=BX*P(6*JB(K)-2)+BY*P(6*JB(K)-1)+BZ*P(6*JB(K))
TZ2=CX*P(6*%JIB(K)-2)+CY*P(6*JB(K)-1)+CZ*P(6*JB(K))
A=B(K)*D(K)
RIZ=B(K)*D(K)*D(K)*D(K)/12.
RIY=D(K)*B(K)*B(K)*B(K)/12.
RJIX=RIY+RIZ
S1=E*A/RL
S2=12.*E*RIZ/RL**3
S3=12,*E*RIY/RL**3
S4£=6.*E*RIZ/RL**2
S5=6.*E*RIY/RL¥*2
S6=4,*E*R1Z/RL
S7=4,*E*RIY/RL
S8=G*RJX/RL
FX1=S1*DUI
FY1=S2*DVI+S4*(TZ1+TZ2)
FZ1=S3*DWI-S5%(TY1+TY2)
MX1=S8*(TX1-TX2)
MY1=-S5*DWI+S7*(TY1+0.5*TY2)
MZ1=S4*DVI+S6*(TZ1+0.5*TZ2)
FX2=-FX1
F¥2~-FY1l
FZ2=-FZ1
MX2=-MX1
MY2=-S5*DWI+S7*(0.5*TY1+TY2)
MZ2=54*DVI+S6*(0.5*%TZ1+TZ2)
IF(JIR(K).EQ.3) THEN
FX1=FX1+0.5*Q(K)*RL

*
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FX2=FX2+0.5*Q(K)*RL

ELSE

MZ1=MZ1+Q(K)*RL*RL/12,

MZ2=M22-Q(K)*RL*RL/12.

FY1=FY1+0.5*%Q(K)*RL

FY2=FY2+0.5*Q(K)*RL

ENDIF

WRITE(7,102) JA(K),FX1,FY1,6FZ1,MX1,MY1l, MZ1

WRITE(7,102) JB(K),FX2,FY2,F22,MX2,6MY2, K MZ2

IF(JIR(K).NE.3) THEN

WRITE(7,220) ABS(MZ1),ABS(FYl),B(K),D(K)
220 FORMAT(/,5X,'M, V = ',2G14.5,/

* 15X, 'Original section B, H : ',26G14.5)
CALL BEAM(B(K),D(K),ABS(MZ1),ABS(FY1l),BH1,DH1l)
WRITE(7,221) BH1,DHl

221 FORMAT(15X, 'Estimated section B, H : ',2G14.5)
WRITE(7,220) ABS(MZ2),ABS(FY2),B(K),D(K)
CALL BEAM(B(K),D(K),ABS(MZ2),ABS(FY2),6BH2,DH2)
WRITE(7,221) BH2,DH2
CALL LARGE(BL(K),DL(K),BH1,DH1,BH2,DH2)
write(*,6*)'bean’' k, 'pass’
ELSE
WRITE(7,222) ABS(MZ1l),ABS(MY1l),ABS(FX1l)

222 FORMAT(/,5X,'Mx, My, P = ',3G14.5)
CALL COLUMN(ABS(MZ1l),ABS(MYl),ABS(FX1),BH1,DH1)
WRITE(7,221) BH1,DH1l
WRITE(7,222) ABS(MZ2),ABS{MY2),ABS(FX2)
CALL COLUMN(ABS(MZ2),ABS(MY2),ABS(FX2),BH2,DH2)
WRITE(7,221) BH2,DH2
CALL LARGE(BL(K), DL(K) BH1,DH1, BH2 DH2)
write(*,*)'column', k, 'pass’ .
ENDIF

50 CONTINUE

RETURN
END

SUBROUTINE LARGE(B,D,B1,Dl1,B2,D2)
IF(Bl.GT.B) B=Bl

IF(D1.GT.D) D=D1

IF(B2.GT.B) B=B2

IF(D2.GT.D) D=D2

RETURN

END

SUBROUTINE BEAM(B1,H,M,V,BL,DL)
REAL MN,M,MMIN
COMMON/F/ FC,FY
B=B1
D=H-7.
IF(FC.LE.280.) THEN
BETA1=0.85
ELSE
BETA1=0.85-(FC-280.)/70.%*0.05
ENDIF
THOB=0.85*BETA1*FC/FY*6120./(6120.+FY)
THOMAX=0.75*THOB
THOMIN=14./FY

10 ASMIN=THOMIN*B*D
Al=ASMIN*FY/(0.85*FC*B)
MMIN=ASMIN*FY*(D-A1/2)
IF(M.LT.MMIN*0.9) M=MMIN*Q.9
AS=THOMAX*B*D
A=AS*FY/(0.85*FC*B)
MN=AS*FY*(D-A/2.
CC=(0.9*MN-M)/(0.9*MN)
IF(CC.GE.0..AND.CC.LE.0.2) GO TO 20
IF(CC.GT.0.2) THEN

I-3



D=D-1.
B=(D+7.)/2.
ELSE
D=D+1.
B=(D+7.)/2.
ENDIF
GO TO 10
20 VN=2.65*FC**0.5%B*D
BB=0.85*VN-V
IF(BB.GT.0.) GO TO 30
D=D+1.
B=(D+7.)/2.
GO TO 20
30 BL=B
DL=D+7.
RETURN
END

SUBROUTINE COLUMN(MX,MY,P,B,H)
REAL MX, MY
B=45.
H=45.
D=H~7.0

20 CALL COL(MX,6MY,P,B,D,IC,RATIO)
IF (IC.EQ.0) GO TO 20
H=D+7.0
RATIO=RATIO*100.
IF(RATIO.LT.1.0) RATIO=1.0
WRITE(7,223) RATIO

223 FORMAT(15X, 'Estimated steel ratio = ',G14.5,'%’)
RETURN
END

SUBROUTINE COL(MX,MY,P,B,D,IC,RATIO)
COMMON/F/ FC,FY
REAL MX,MY,M(2)
M(1)=MX
M(2)=MY
IF(FC.LE.280.) THEN
BETA1=0.85
ELSE
BETAl=0.85-(FC-280.)/70.%0.05
ENDIF
RATIO=0.
PN=P/0.70
DO 40 I=1,2
PNB=0.85*BETA1*FC*B*D*6120./(6120.+FY)
DD=PNB-PN
E=M(I)/P
IF(DD.GE.O.) THEN
TENSION CONTROL COLUMN
CALL TEN(BETAl,PN,B,D,E,THO)
ELSE
COMPRESSION CONTROL COLUMN
CALL COMP(BETAl,PN,B,D, E, THO)
ENDIF
RATIO=RATIO+THO
C=B-7.0
BE=D+7.0
D=C
40 CONTINUE
IF(RATIO.GE.O.01.AND.RATIO.LE.0.030) THEN
IC=1
ENDIF
IF(RATIO.GT.0.030.AND.MX.GT.1.2*MY) THEN
D=D+2.
B=B+1.



I1C=0
ENDIF
IF(RATIO.GT.0.030.AND,MX.LE.1.2*MY.AND.MX,GE.MY/1.2) THEN
D=D+2.
B=D+7,
I1C=0
ENDIF
IF(RATIO.GT.0.030.AND.MX.LT.MY/1.2) THEN
B=B+2.
D=D+1.
1C=0
ENDIF
IF(RATIO.LT.0.01.AND.MX.GT.1.2*MY) THEN
B=B-2.
D=D-1.

IF(B.LT.25..0R.D.LT.18.) THEN

IC=1

ELSE

1C=0

ENDIF
ENDIF
IF(RATIO.LT.0.01.AND ,MX.LE.1.2*MY.AND.MX.GE.MY/1.2) THEN
B=B-~-2.
D=B-7.

IF(B.LT.25..0R.D.LT.18.) THEN

IC=1

ELSE

IC=0

ENDIF
ENDIF
IF{RATIO.LT.0.01 ,AND.MX.LT.MY/1.2) THEN
D=D-2.
B=B-1,

IF(B.LT.25..0R.D.LT.18.) THEN

I1C=1

ELSE

IC=0

ENDIF
ENDIF
RETURN
END

SUBROUTINE TEN(BETALl,PN,B,D,E, THO)

COMMON/F/ FC,FY
PNC=0.85*BETA1*FC*B*7.5%6120./(6120.-FY)

EE=PNC-PN

IF{EE.GT.0. )THEN

COMPRESION STEEL NOT YIELD
Cl=-PN*(E+(D-7.)/2.)*42840.+3060.*(D-7.)*(14.*PN)

CZ= PN*(E+(D-7.)/2.)*(6120.-FY)+(0.85*¥BETA1*FC*B*D)*42840.
* -3060.*(D-7.)*(2.*%*PN)-3060.*(D~7.)*(11.9*BETAL*FC*B)
C3=-0.85*BETAL*FC*B*D*6120.+0.85*BETAL*FC*B*D*FY
* -0.425*%BETA1**2*FC*B*42840.+3060.*(D-7. )*(1.7*BETAL*FC*B)
C4=-0.425*BETAL**2*FC*B*FY+0.425%¥BETAL**2*XFC*B*6120.
CALL SOL{Cl1,C2,C3,C4,X)
AST=(2.*X*PN-1.7*BETAL*FC*B*X**2)/(6120.*(X-7.)-FY*X)
THO=AST/(B*(D+7.0))

IF(THO.LT.0.) THO=O0.

ELSE R

COMPRESSION STEEL YIELD

X=PN/(0.85*BETA1*FC*B)
AST=2.*PN*(E-(D+7.)/2.+BETA1*X/2.)/(FY*(D-7.))
THO=AST/(B*(D+7.0))

IF(THO.LT.0.) THO=0.

ENDIF

RETURN

END



SUBRCUTINE COMP(BETAl,PN,B,D,E,THO)

COMMCN/F/ FC,FY

Cl= 6120.*PN*D*(E+(D-7.)/2.)

C2= EN*(FY-0.85*%FC)*(D-7.)-5202.*BETAL*FC*B*D**2
* ~FN*FY*(E+(D-7.)/2.)+0.85*FC*PN*(E+(D-7.)/2.)
* ~6120.*PN*(E+(D-7.)/2.)

C3=-C.85*BETA1*FC*B*(FY-0.85*FC)*(D-7.)

* +C.85*BETAL*FC*B*D*(FY-0.85*FC+6120.)
*  +2601.*BETA1**2*FC*B*D

C4=-C.425%BETA1**2*FC*B*(FY-0.85*FC+6120.)

CALL SOL(C1,C2,C3,C4,X)

AST=(2.*X*PN-1.7*BETA1*FC*B*X**2)/(X*FY~0.85*FC*X-6120.*D+6120.*X)

THO=AST/(B*(D+7.0))

IF(TEO.LT.0.) THO=0.

RETURN

END

SUBROUTINE SOL(C1,C2,C3,C4,X)
H(X)=((C4*X+C3)*X+C2)*X+C1l
X1=0.
X2=1000.
20 IF(ABS(X1-X2).LT.1.E-05) THEN
X=X1
RETURN
ENDIF
H1=H(X1)
H2=H(X2)
IF(H1*H2.GT.0.) THEN
X=100000.
RETURN
ENDIF
X3=(X1+X2)/2.
H3=H{X3)
IF({H.*H3.GT.0.) THEN
X1=X3
GO TO 20
ELSE
X2=X3
GO TO 20
ENDIF
END

SUBROUTINE CHECK(B,D,BL,DL, ITRN, IERR)
COMMON/A/ NJ,NM,NX,NY,NZ, NHB, NEQ
DIMENSION B(*),D(*),BL(*),DL(*)
WRITE(6,201)
201 FORMAT(//,3X,'ELEMENT NO.', 5X, 'Bold’', 11X, 'Hold', 11X, 'Bnew’, 11X,
* 'Hnew')
IERR=0
DO 20 I=1,NM
WRITE(6,202) I,B(I),D(I),BL(I),DL(I)

202 FORMAT(5X, 15, 3X,4G15.5)
IF(B%(1)-B(I1).GT.0.0*BL(1).0OR.B(I1)-BL(I).GT.0.10*BL(1)) THEN
B(I)=BL(I)

IERR=IERR+1
WRITE(*,*)'altered element', T
ENDIF
IF(DL(I)-D(I).GT.0.0*DL(I).OR.D(I)-DL(I).GT.O.IO*DL(I)) THEN
D(1)=DL(I)
IERR=IERR+1
WRITZ(*,*)'altered element’,I
ENDIF
20 CONTINUE
WRITE(6,101) ITRN,IERR
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c

101 FORMAT(//,5X,'ITERATION NO. ',I3,9X, 'NUMBER OF ALTERED ELEMENTS ="
*

13)

’

write(*,*)'total altered elements', IERR
RETURN

END

1-3






1,2,2

500.
400.,400.
350.,350.
210.,2800.
0.05,C.05
1.,1.,0.15,1.
480. :
1.,50C0.



c



ELEMENT NO.

VOO WN-

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26

ITERATION NO.

ELEMENT NO.

ITERATION NO.

ELEMENT NO.

Bold

24,
24.
24,
24.
24.
24.
20.
20.
.833
16.
16.
16.
16.
24,
24.
24.
24.
24.
24.
20.
20.
20.
16.
16.
16.
16.

20

000
000
000
000
000
000
833
833

667
667
667
667
000
000
000
000
000
000
833
833
833
667
667
667
667

Bold

34.
34.
34.
34.
34.
34.
17.
20.
17.
16.
16,
16.
16.
34.
29.
37.
37.
.36.
36.
15.
17.
15.
16.
" 16,
14.
14.

000
000
000
000
000
000
833
833
833
667
667
667
667
000
000
000
000
000
000
333
833
333
667
667
667
667

2

Bold

Hold
24.000
24,000
24.000
24.000
24.000
24.000
41.667
41.667
41.667
33.333
33.333
33.333
33.333
24.000
24.000
24.000
24.000
24.000
24.000
41.667
41.667
41.667
33.333
33.333
33.333
33.333

NUMBER OF ALTERED ELEMENTS = 38

Hold
34.000
34.000
34.000
34.000
34.000
34.000
35.667
41.667
35.667
33.333
33.333
33.333
33.333
34.000
37.000
34.000
40.000
34.000
37.000
30.667
35.667
30.667
33.333
33.333
29.333
29.333

NUMBER OF ALTERED ELEMENTS = 23

Hold

I-4

Bnew
34.000
34.000
34.000
34.000
34.000
34.000
17.833
20.333
17.833
16.167
16.167
16.687
16.667
34.000
29.000
37.000
37.000
36.000
36.000
15.333
17.833
15.333
15.167
15.167
14.667
14.667

Bnew
37.000
37.000
35.000
35.000
37.000
37.000
16.833
20.833
16.833
15.667
15.667
15.667
15.667
34.000
31.000
39.000
41.000
36.000
36.000
15.333
18.333
15.333
15.167
15.167
14.167
14.167

Bnew

Hnew
34.000
34.000
34.000
34.000
34.000
34.000
35.667
40.667
35.667
32.333
32.333
33.333
33.333
34.000
37.000
34.000
40.000
34.000
37.000
30.667
35.667
30.667
30.333
30.333
29.333
29.333

Hnew
35.000
36.000
37.000
38.000
35.000
36.000
33.667
41.667
33.667
31.333
31.333
31.333
31.333
37.000
38.000
39.000
43.000
37.000
38.000
30.667
36.667
30.667
30.333
30.333
28.333
28.333

Hnew



[T
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ITERATION KNO.

ELEMENT NO.

ITERATION NO.

ELEMENT NO.
1

2
3

37.
37.
35.
35.
37.
37.
17.
20.
17.
16.
16.
16.
16.
34.
31.
39.
41.
36.
36.
15.
18.
15.
16.
16.
14.
14.

000
000
000
000
000
000
833
833
833
667
667
667
667
000
000
000
000
000
000
333
333
333
667
667
667
667

Bold

38.
38.
35.
35.
38.
38.
17.
20.
17.
16.
16.
16.
.667
.000
.000
.000
.000
.000
.000
.333
.333
.333
.667
.667
14.
14.

000
000
000
000
000
000
833
833
833
667
667
667

667
667

Bold

38.
39.
35.

000
000
ocoo

35.000 38.000

36.000 38.000
37.000 35.000
38.000 35.000
35.000 38.000
36.000 38.000
35.667 16.833
41.667 20.833
35.667 16.833
33.333 15.667
33.333 15.667
33.333 15.667
33.333 15.667
37.000 34.000
38.000 31.000
39.000 37.000
43.000 43.000
37.000 36.000
38.000 35.000
30.667 15.333
36.667 18.333
30.667 15.333
33.333 15.167
33.333 15.167
29.333 14.167
29.333 14.167
NUMBER OF ALTERED ELEMENTS =

Hold Bnew
35.000 38.000
37.000 39.000
38.000 35.000
39.000 35.000
35.000 38.000
37.000 39.000
35.667 16.833
41.667 ) 20.833
35.667 16.833
33.333 15.667
33.333 15.667
33.333 15.667
33.333 15.667
37.000 34.000
38.000 31.000
41.000 37.000
44.000 43.000
37.000 35.000
38.000 35.000
30.667 15.333
36.667 18.333
30.667 15.333
33.333 15.167
33.333 15.167
29.333 14.167
29.333 14.167

NUMBER OF ALTERED ELEMENTS =

Hold Bnew
35.000 38.000
38.000 39.000
38.000 35.000
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4

35.000
37.000
38.000
39.000
35.000
37.000
33.667
41.667
33.667
31.333
31.333
31.333
31.333
37.000
38.000
41.000
44.000
37.000
38.000
30.667
36.667
30.667
30.333
30.333
28.333
28.333

Hnew
35.000
38.000
38.000
40.000
35.000
37.000
33.667

. 41.667

33.667
31.333
31.333
31.333
31.333
37.000
38.000
41.000
44.000
37.000
38.000
30.667
36.667
30.667
30.333
30.333
28.333
28.333

Hnew
34.000
38.000
38.000



4 35.000 40.000 35.000 40.000

S 38.000 35.000 38.000 35.000

6 39.000 37.000 39.000 38.000
7 17.833 35.667 16.833 33.667

8 20.833 41.667 20.833 41.667
9 17.833 35.667 16.833 33.667
10 16.667 33.333 15.667 31.333
11 16.667 33.333 15.667 31.333
12 16.667 33.333 15.667 31.333
13 16.667 33.333 15.167 30.333
14 34.000 37.000 34.000 37.000
15 31.000 38.000 31.000 38.000
16 39.000 41.000 37.000 41.000
17 43.000 44.000 43.000 44.000
18 36.000 37.000 35.000 37.000
19 36.000 38.000 35.000 38.000
20 15.333 30.667 15.333 30.667
21 18.333 36.667 18.333 36.667
22 15.333 30.667 15.333 30.667
23 16.667 33.333 15.167 30.333
24 16.667 33.333 15.167 30.333
25 14.667 29.333 14.167 28.333
26 14.667 29.333 14.167 28.333

ITERATION NO. 5 NUMBER OF ALTERED ELEMENTS = 1
ELEMENT NO. Bold Hold Bnew Hnew

1 38.000 35.000 38.000 34.000

2 39.000 38.000 39.000 38.000
3 35.000 38.000 35.000 38.000

4 35.000 40.000 35.000 40.000

5 38.000 35.000 38.000 34.000

6 39.000 38.000 39.000 38.000

7 17.833 35.667 16.833 33.667

8 20.833 41.667 20.833 41.667

9 17.833 35.667 16.833 33.667
10 16.667 33.333 15.667 31.333
11 16.667 33.333 15.667 31.333
12 16.667 33.333 15.667 31.333
13 16.667 33.333 15.167 30.333
14 34.000 37.000 34.000 37.000
15 31.000 38.000 31.000 38.000
16 39.000 41.000 37.000 41.000
17 43.000 44.000 43.000 44.000
18 36.000 37.000 35.000 37.000
19 36,000 38.000 35.000 38.000
20 15.333 30.667 15.333 30.667
21 18.333 36.667 18.333 36.667
22 15.333 30.667 15.333 30.667
23 16.667 33.333 15.167 30.333
24 16.667 33.333 15.167 30.333
25 14.667 29.333 14.167 28.333
26 14.667 29.333 14.167 28.333

ITERATION NO. 6 NUMBER OF ALTERED ELEMENTS = 0O






QUTPUT FOR NODAL DISPLACEMENTS:

NODE u v w Q-x Q-y Q-z
1 .0000 .0000 .0000 .0000 .0000 .0000
2 . 0000 .0000 .0000 .0000 .0000 .0000
3 .0000 .0000 .0000 . 0000 .0000 . 0000
4 . 0000 . 0000 .0000 .0000 .0000 .0000
5 .0000 .0000 .0000 .0000 .0000 .0000
6 .0000 .0000 .0000 . 0000 .0000 .0000
7 -.1440E~02 -.1850E-02 -.2331E-01 -.1996E-03 .3770E-03 .1346E-06
8 .1440E-02 -.1850E-02 -.2331E-01 -.1996E-03 -.3770E-03 -.1347E-06
9 -.2517E-02 .1606E-07 -.4277E-01 -.4269E-10 .6901E-03 -.3626E-10
10 .2517E-02 -.,1165E-07 -.4277E-01 .5849E-10 -.6901E-03 -.3228E-10
11 ~.1440E-02 .1850E-02 -.2331E-01 .1996E-03 .3770E-03 ~-.1347E-06
12 .1440E-02 .1850E-02 -.2331E-01 .1996E-03 ~-.3770E-03 .1346E-06
13 .2120E-02 ,2777E-02 -.3443E-01 -~.4566E-03 .B447E-03 ~.1359E-05
14 -.2120E-02 .2777E-02 -.3443E-01 ~-.4566E-03 -.8447E-03 .1359E-05
15 .3759E-02 .3866E-07 -.6379E-01 -.4360E-10 ,1478E-02 -.8276E-10
16 -.3759E-02 ~.4900E-07 -.6379E-01 .1989E-10 -.1478E-02 -.8085E-10
17 .2120E-02 -.2777E~02 -.3443E-01 .4566E-03 .8447E-03 .1359E-05
18 -.2120E-02 ~,2777E-02 -~.3443E-01 .4566E-03 -.8447E-03 -.1359E-05
MEMBER FORCE OUTPUT FOR ELEMENT 1
NODE F-X F-Y F-Z M-X M-Y M-2Z
1 .1845E+05 513.0 279.9 . 0000 -.3347E+05 .6048E+05
7 -.1701E+05 ~513.0 -279.9 .0000 -.6448E+05 .1190E+06
Mx, My, P = 60484. 33473. 18453.
Estimated steel ratio = 1.0000 3
Estimated section B, H : 23.000 34.000
Mx, My, P = .11905E+06 64483. 17013.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
MEMBER FORCE OUTPUT FOR ELEMENT 2
NODE F-X F-Y F-2 M-X M-Y M-Z
2 .1845E+05 -513.0 279.9 .0000 -.3347E+05 -.6048E+05
8 -.1701E+05 513.0 -279.9 .0000 -.6448E+05 -.1190E+06
Mx, My, P = 60484. 33473. 18453.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
Mx, My, P = .11905E+06 64483. 17013.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
MEMBER FORCE QUTPUT FOR ELEMENT 3
NODE F-X F-Y F-2 M-X M-Y M-Z
3 .3326E+05 937.9 -.6534E-04 .0000 .1475E-01 .1105E+06
9 -.3182E+05 -937.9 .6534E-04 .0000 .8118E-02 .2177E+06
Mx, My, P = .11054E+06 .14750E-01 33258.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
Mx, My, P = .21772E+06 .81179E-02 31818.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
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MEMBER FORCE QUTPUT FOR ELEMENT 4

NODE F-X F-Y F-Z M-X M-Y M~2Z
4 .3326E+05 -937.9 .1074E~04 ,0000 -.6422E-02 -.1105E+06
10 -.3182E+05 937.9 -.1074E-04 .0000 .2663E-02 ~,2177E+06
Mx, My, P = .11054E+06 .64217E-02 33258.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
Mx, My, P = .21772E+06 .26632E-02 31818.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000

MEMBER FORCE OUTPUT FOR ELEMENT 5

NODE F-X F-Y F-2 M-X M-Y M-Z
5 .184£E+05 513.0 . -279.9 .0000 .3347E+05 .6048E+05
11 -.1701E+05 -513.0 279.9 .0000 .644BE+05 .1190E+06
Mx, My, P = 60484. 33473. 18453.
Estimated steel ratio = 1,0000 3
Estimated section B, H : 23.000 34.000
Mx, My, P = .11905E+06 64483. 17013.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000

MEMBER FORCE OUTPUT FOR ELEMENT [

NODE F-X F-Y F-Z M-X M-Y M-Z
6 .1845E+05 -513.0 ~279.9 .0000 .3347E+05 -.5048E+05
12 -.1701E+05 513.0 279.9 .0000 .6448E+05 ~.1190E+06
Mx, My, ? = 60484. 33473. 18453.
Estimated steel ratio = 1.0000 ¥
Estimated section B, H : 23.000 34.000
Mx, My, P = .11905E+06 64483. 17013.
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000

MEMBER FORCE OUTPUT FOR ELEMENT 7

NODE F-X F-Y F-2 M-X M-Y M-2Z
7 -1087. 4791. -.7801E-05 -.2069E-02 3.678 .3581E+06
8 1087. 4791. .7801E-05 .2069E-02 -3.674 -.3581E+06
M, V = .35809E+06 4791.2
Original section B, H : 20.833 41.667
Estimated section B, H : 14.833 29.667
M, V = .35809E+06 4791.2 .
Original section B, H : 20.833 41.667
Estimated section B, H : 14.833 29.667
MEMBER FORCE OUTPUT FOR ELEMENT 8
NODE F-X F-Y F-2Z M-X M-Y M-2Z
9 -1900. 8853. -.6924E-05 -.2877E-02 .1677E-02 .6624E+06
10 1900Q. 8853. .6924E-05 .2877E-02 ,1785E-02 -.6624E+06
M, V = .66241E+06 8853.2
Original section B, H : 20.833 41.667 ,
Estimated section B, H : 17.833 35.667
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MEMBER

NODE
11
12

M,

MEMBER
NODE

7

9

M,

MEMBER
NODE
8
10

M,

MEMBER
NODE
9
11

M,

MEMBER

NOLE
10
12

M,

vV = .66241E+06 8853.2

Original section B, H : 20.833
Estimated section B, H : 17.833
FORCE OUTPUT FOR ELEMENT 9
F-X F-Y F-Z M-X
-1087. 4791. -.3533E-06 -.2069E-02 -3.676

1087. 4791. .3533E-06
vV = .35809E+06 4791.2
Original section B, H : 20.833
Estimated section B, H : 14.833
VvV = .35809E+06 4791.2
Original section B, H : 20.833
Estimated section B, H : 14.833
FORCE OUTPUT FOR ELEMENT 10
F-X F-Y F-2 M-X
-558.6 3038. .5501 -4557.
558.6 3124. -.5501 4557.
V = .19126E+06 3038.4
Original section B, H : 16.667
Estimated section B, H : 12.667
V = .20842E+06 3124.2
Original section B, H : 16.667
Estimated section B, H : 12.667
FORCE OUTPUT FOR ELEMENT 11
F-X F-Y F-2 M-X
-558.6 3038. -.5501 4557.
558.6 3124. .5501 -4557.
vV = .19126E+06 3038.4
Original section B, H : 16.667
Estimated section B, H : 12.667
vV = .20842E+06 3124.2
Original section B, H : 16.667
Estimated section B, H : 12.667
FORCE OUTPUT FOR ELEMENT 12
F-X F-Y F-2 M-X
~558.6 3124. -.5501 4557.
558.6 3038. .5501 -4557.
vV = .20842E+06 3124.2
Original section B, H : 16.667
Estimated section B, H : 12.667
vV = .19126E+06 3038.4
Original section B, H : 16.667
Estimated section B, H : 12.667
FORCE OUTPUT FOR ELEMENT 13
F-X F-Y F-2Z M-X
-558.6 3124. .5501 ~4557.
558.6 3038. -.5501 4557.
vV = .20842E+06 3124.2

I1-4

.2069E-02 3.676

-111.0

M-Y

M-Y

41.667
35.667

M-Y M-2

.3581E+06
-.3581E+06

41.667
29.667

41.667
29.667

M-Y M-Z

.1913E+06
~.2084E+06

33.333
25.333

33.333
25.333

M-Y M-Z

.1813E+06
~-.2084E+06

33.333
25.333

33.333
25.333

M-Z
.2084E+06
-.1913E+06

33.333
25.333

33.333
25.333

M-Z
.2084E+06
-.1913E+06



Original section B, H 16.667 32.333

Estimated section B, H 12.667 25.333
M, V = .19126E+06 3038.4
Original section B, H : 16.667 33.333
Estimated section B, H : 12.667 25.333
MEMBER FORCE OUTPUT FOR ELEMENT 14
NODE F-X F-Y F-Z M-X M-Y M-Z
7 9183. 1600. 838.5 .0000 -.1268E+06 .2436E+06
13 -7743. -1600. -838.5 .0000 ~.1667E+06 .3162E+06
Mx, My, P = .24360E+06 .12678E+06 9183.2
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
Mx, My, P = .31624E+06 .16668E+06 7742.6
Estimated steel ratio = 1.0265 %
Estimated section B, H : 27.000 3€.000
MEMBER FORCE OUTPUT FOR ELEMENT 15
NODE F-X F-Y F-2 M-X M-Y M-Z
8 9183. -1600. 838.5 .0000 -.1268E+06 -.2436E+06
14 -7743. 1600. -838.5 .0000 -.1667E+06 -.3162E+06
Mx, My, P = .24360E+06 .12678E+06 9183.2
Estimated steel ratio = 1.0000 3
Estimated section B, H : 23.000 34.000
Mx, My, P = .31624E+06 .16668E+06 7742.6
Estimated steel ratio = 1.0265 %
Estimated section B, H : 27.000 36.000
MEMBER FORCE OUTPUT FOR ELEMENT 16
NODE F-X F-Y F-Z M-X M-Y M-Z
9 .1672E+05 2839. -.5708E-04 .0000 .1006E-01 .4356E+06
15 -.1528E+05 ~2839. .5708E-04 .0000 .9919E-02 .5579E+06
Mx, My, P = .43558E+06 .10060E-01  16716.
Estimated steel ratio = 1.0193 %
Estimated section B, H : 25.000 35.000
Mx, My, P = .55795E+06 .99189E-02 15276.
Estimated steel ratio = 1.0118 %
Estimated section B, H : 31.000 38.000
MEMBER FORCE OUTPUT FOR ELEMENT 17
NODE F-X F-Y F-Z M-X M-Y M-2Z
10 .1672E+05 -2839. .1799E-03 .0000 -.2848E-01 -.4356E+06
16 -.1528E+05 2839. -.1799E-03 .0000 -.3447E-01 -.5579E+06
Mx, My, P = .43558E+06 .28477E-01 16716.
Estimated steel ratio = 1.0193 % .
Estimated section B, H : 25.000 35.000
Mx, My, P = .55795E+06 .34472E-01 15276.
Estimated steel ratio = 1.0118 %
Estimated section B, H : 31.000 38.000
MEMBER FORCE OUTPUT FOR ELEMENT 18
NODE F-X F-Y F-2 M-X M-Y M-Z
11 9183. 1600. -838.5 .0000 .1268E+06 .2436E+06



17 ~7743. -1600. 838.5 .0000 .1067E+06 .3162E+06

Mx, My, P = .24360E+06 .12678E+06 9183.2
Estimated steel ratio = 1.0000 %
Estimated section B, H : 23.000 34.000
Mx, My, P = .31624E+06 .16668E+06 7742.6
Estimated steel ratio = 1.0265 %
Estimated section B, H : 27.000 36.000

MEMBER FORCE OUTPUT FOR ELEMENT 19

NODE F-X F-Y F-2 M-X M-Y M-Z
12 9183. -1600. -838.5 .0000 .1268E+06 -.2436E+06
18 -7743. 1600. 838.5 . 0000 .1667E+06 -.3162E+06
Mx, My, P = .24360E+06 .12678E+06 9183.2
Estimated steel ratio = 1.0000 3%
Estimated section B, H : 23.000 34.000
Mx, My, P = .31624E+06 .16668BE+06 7742.6
Estimated steel ratio = 1.0265 %
Estimated section B, H : 27.000 36.000

MEMBER FORCE OUTPUT FOR ELEMENT 20

NODE F-X F-Y F-2 M-X M-Y M-2
13 1600. 4791. -.3123E-04 ~.6621E-02 -37.10 .3070E+06
14 -1600. 4791. .3123E-04 .6621E-02 37.12 -.3070E+06
M, V = .30702E+06 4791.2
Original section B, B : 20.833 41.667
Estimated section B, H : 14.333 28.667
M, V = . .30702E+06 4791.2
Original section B, H : 20.833 41.667
Estimated section B, H : 14.333 28.667
MEMBER FORCE OUTPUT FOR ELEMENT 21
NODE F-X F-Y F-2 M-X M-Y M-Z
15 2837. 8853. -.3064E-04 -.1806E-02 .7634E-02 .5764E+06
16 ~-2837. 8853. .3064E-04 .1806E-02 .7686E-02 ~.5764E+06
M, V= .57639E+06 8853.2
Original section B, H : 20.833 41.667
Estimated section B, H : 16.833 33.667
M, V = .5763%9E+06 8853.2
Criginal section B, H : 20.833 41.667
Estimated section B, H : 16.833 33.667
MEMBER FORCE OUTPUT FOR ELEMENT 22
NODE F-X F-Y F-Z M-X M-Y M-Z
17 1600. 4791. -.1714E-04 -.5793E-02 37.11 .3070E+06
18 -1600. 4791. .1714E-04 .5793E-02 -37.10 -.3070E+06
M, V= . .30702E+06 4791.2
Ooriginal section B, H : 20.833 41.667
Estimated section B, H : 14.312 nn ere

.30702E+06 4791.2
Original section B, H
Estimated section B, H

2
<
u

MEMBER FORCE OQUTPUT FOR ELEMENT 23
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NODE
13
15

M,

MEMBER

NCDE
14
16

M,

MEMBER

NODE
15
17

M,

MEMBER

NODE
16
18

M,

F-X F~-Y F-2

838.5 2951. -.7165

-838.5 3211. .7165

vV = .16668E+06 2951.5

Original section B, H
Estimated section B, H

vV = .21864E+06 3211.2

Original section B, H
Estimated section B, H

FORCE OUTPUT FOR ELEMENT 24
F-X F-Y F-Z
838.5 2951. .7165
-838.5 3211. ~.7165
vV = .16668E+06 2951.5
Original section B, H
Estimated section B, H

vV = .21864E+06 3211.2

Original section B, H
Estimated section B, H

FORCE OUTPUT FOR ELEMENT 25
F-X F-Y F-2
838.5 3211. .7165
-838.5 2951. ~.7165
vV = .21864E+06 3211.2

Original section B, H
Estimated section B, H

.16668E+06 2951.5
Original section B, H
Estimated section B, H

FORCE OUTPUT FOR ELEMENT 26
F-X F-Y F-2Z
838.5 3211. ~.7165
-838.5 2951, .7165
Vv = .21864E+06 3211.2
Original section B, H
Estimated section B, H

vV = .16668E+06 2951.5

Original section B, H
Estimated section B, H

o e

o e

o e

M-X
-9219.
9219.

16.667
12.167

16.667
13.167

M-X
9219.
-9219.

16.667
12.167

16.667
13.167

M-X
9219.
-9219.

16.667
13.167

16.667
12.167

M-X
-9219.
9219.

16.667
13.167

16.667
12.167

M-Y
133.8
152.8

M-Y

-133.8
-152.8

M-Y

-152.8
-133.8

M-Y
152.8
133.8

M-Z
.1667E+06
-.2186E+06

33.333
24.333

33.333
26.333

M-Z
.1667E+06
-.2186E+06

33.333
24.333

33.333
26.333

M-Z
.2186E+06
-.1667E+06

33.333
26.333

33.333
24.333

M-Z
.2186E+06
-.1667E+06

33.333
26.333

33.333
24.333
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NODAL POINT COORDINATES:

NODE

VOO0 b W=

.00000
500.00
. 00000
500.00
.00000
500.00
.00000
500.00
.00000
500.00
.00000
500.00
.00000
500.00
.00000
500.00
.00000
500.00

DATA ABOUT MEMBERS:

ELEM NO.

NODE A NODE B

1 1
2 2
3 3
4 4
5 5
6 6
7 7
8 9
9 11
10 7
11 8
12 9
13 10
14 7
15 8
16 9
17 10
18 11
19 12
20 13
21 15
22 17
23 13
24 14
25 15
26 16
THE DEAD WZIGHT OF EACH FLOOR
LAYER NO. 1 3087.000
LAYER NO. 2 25832.330
LAYER NO. 3 22745.330

FHE TOTAL DZAD LOAD = 51664.67
THE DEAD WZIGHT OF EACH FLOOR

LAYER NO.
LAYER NO.
LAYER WNO.

1 3087.000
2 25832.330
3 22745,330

.00000
.00000
400.00
400.00
800.00
800.00
.00000
. 00000
400.00
400.00
800.00
800.00
.00000
.00000
400.00
400.00
800.00
800.00

WIDTH

35.00
35.00
35.00
35.00
35.00
35.00
20.83
20.83
20.83
16.67
16.67
16.67
16.67
35.00
35.00
35.00
35.00
35.00
35.00
20.83
20.83
20.83
16.67
16.67
16.67
16.67

.00000
.00000
.00000
.00000
.00000
.00000
350.00
350.00
350.00
350.00
350.00
350.00
700.00
700.00
700.00
700.00
700.00
700.00

DEPTH

35.00
35.00
35.00
35.00
35.00
35.00
41.67
41.67
41.67
33.33
33.33
33.33
33.33
35.00
35.00
35.00
35.00
35.00
35.00
41.67
41.67
41.67
33.33
33.33
33.33
33.33



THE TOTAL DEAD LOAD = 51664.67

THE TOTAL DEAD LOAD = 48577.67
THE TOTAL HORIZONTAL FORCE = 7286.650
THE SUMMATION OF W(I)*H(I) = 14275960.000
THE CONCENTRATED LOAD AT ROOF = 5000.000

LAYER NO. 2THE HORIZONTAL FORCE = 2403.988
LAYER NO. 3THE HORIZONTAL FORCE = 14828.040

NODE NO. 7 D.O.F. 37 601.00
NODE NO. 9 D.O.F. 49 1202.0
NODE NO. 11 D.O.F. 61 601.00
NODE NO. 13 D.0.F. 73 3707.0
NODE NO. 15 D.0.F. 85 7414.0
NODE No. 17 D.0.F. 97 3707.0
THE DEAD WEIGHT OF EACH FLOOR

_LAYER NO. 1 3087.000
LAYER NO. 2 25832.330
LAYER NO. 3 22745.330

THE TOTAL DEAD LOAD = 51664.67

THE TOTAL DEAD LOAD = 48577.67
THE TOTAL HORIZONTAL FORCE = 7286.650
THE SUMMATION OF W(I)*H(I) = 14275960.000
THE CONCENTRATED LOAD AT ROOF = 5000.000

LAYER NO. 2THE HORIZONTAL FORCE = 2403.988
LAYER NO. 3THE HORIZONTAL FORCE = 14828.040

NODE NO. 7 D.O.F. 38 1202.0
NODE NO. 8 D.O.F. 44 1202.0
NODE NO. 13 D.O.F. 74 7414.0
NODE NO. 14 D.O.F. 80 7414.0
THE DEAD WEIGHT OF EACH FLOOR
LAYER NO. 1 3963.540
LAYER NO. 2 27650.370
LAYER NO. 3 23065.070

THE TOTAL DEAD LOAD = 54678.98
THE DEAD WEIGHT OF EACH FLOOR

LAYER NO. 1 3963.540
LAYER NO. 2 27650.370
LAYER NO. 3 23065.070

THE TOTAL DEAD LOAD = 54678.98
THE TOTAL DEAD LOAD = 50715.44
THE TOTAL HORIZONTAL FORCE =  7607.316
"THE SUMMATION OF W(I)*H(I) = 14665780.000

THE CONCENTRATED LOAD AT ROOF = 5000.000
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LAYER NO. 2THE HORIZONTAL FORCE = 2615.010
LAYER NO. 3THE HORIZONTAL FORCE = 15066.750

NODE NO. 7 D.0.F. 37 653.75
NODE NO. 9 D.O.F. 49 1307.5
NODE NO. 11 D.O.F. 61 653.75
NODE NO. 13 D.O.F. 73 3766.7
NODE NO. 15 D.O.F. 85 7533.4
NODE NO. 17 D.0.F. 97 3766.7
THE DEAD WEIGHT OF EACH FLOOR
LAYER NO. 1 3963.540
LAYER NO. 2 27650.370
LAYER NO. 3 23065.070

THE TOTAL DEAD LOAD = 54678.98

THE TOTAL DEAD LOAD = 50715.44
THE TOTAL HORIZONTAL FORCE = 7607.316
THE SUMMATION QF W(I)*H(I) = 14665780.000
THE CONCENTRATED LOAD AT ROOF = 5000.000

LAYER NO. 2THE HORIZONTAL FORCE = 2615.010
LAYER NO. 3THE HORIZONTAL FORCE = 15066.750

NODE NO. 7 D.O.F. 38 1307.5
NODE NO. 8 D.O.F. 44 1307.5
NODE NO. 13 D.O.F. 74 7533.4
NODE NO. 14 D.O.F. 80 7533.4
THE DEAD WEIGHT OF EACH FLOOR
LAYER NO. 1 4355.400
LAYER NO. 2 28434.090
LAYER NO. 3 23456.940

THE TOTAL DEAD LOAD = 56246.42
THE DEAD WEIGHT OF EACH FLOOR

LAYER NO. 1 4355.400
LAYER NO. 2 28434.090
LAYER NO. 3 23456.940

TEE TOTAL DEAD LOAD = 56246.42
TEE TOTAL DEAD LOAD = 51891.02

THE TOTAL HORIZONTAL FORCE = 7783.654

THE SUMMATION OF W(I)*H(I) = 14955760.000
THE CONCENTRATED LOAD AT ROOF = 5000.000
LAYER NO. 2THE HORIZONTAL FORCE = 2698.116
LAYER NO. 3THE HORIZONTAL FORCE = 15230.960
NODE NO. 7 D.O.F. 37 674.53
NODE NO. 9 D.O.F. 49 1349.1
NODE NO. 11 D.O.F. 61 674.53
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NODE NO. 13 D.O.F. 73 3807.7
NODE NO. 15 D.O.F. 85 7615.5
NODE NO. 17 D.O.F. 97 3807.7
THE DEAD WEIGHT OF EACH FLOOR
LAYER NO. 1 4355.400
LAYER NO. 2 28434.090
LAYER NO. 3 23456.940
THE TOTAL DEAD LOAD = 56246.42
THE TOTAL DEAD LOAD = 51891.02
THE TOTAL HORIZONTAL FORCE = 7783.654

THE SUMMATION OF W(I)*H(I) =

THE CONCENTRATED LOAD AT ROOF =

14955760.000
5000.000

LAYER NO. 2THE HORIZONTAL FORCE = 2698.116
LAYER NO. 3THE HORIZONTAL FORCE = 15230.960
NODE NO. 7 D.O.F. 38 1349.1
NODE NO. 8 D.O.F. 44 1349.1
NODE NO. 13 D.O.F. 74 7615.5
NODE NO. 14 D.O.F. 80 7615.5
THE DEAD WEIGHT OF EACH FLOOR
LAYER NO. 1 4589.760
LAYER NO. 2 28712.410
LAYER NO. 3 23691.300
THE TOTAL DEAD LOAD = 56993,46
THE DEAD WEIGHT OF EACH FLOOR
LAYER NO. 1 4589.760
LAYER NO. 2 28712.410
LAYER NO. 3 23691.300
THE TOTAL DEAD LOAD = 56993.46
THE TOTAL DEAD LOAD = 52403.70
THE TOTAL HORIZONTAL FORCE = 7860.555

THE SUMMATION OF W(I)*H(I) =

15104440.000

THE CONCENTRATED LOAD AT ROOF = 5000.000
LAYER NO. 2THE HORIZONTAL FORCE = 2724.361
LAYER NO. 3THE HORIZONTAL FORCE = 15312.570
NODE NO. 7 D.O.F. 37 681.09
NODE NO. 9 D.0.F. 49 1362.2
NODE NO. 11 D.O.F, 61 681.09
NODE NO. 13 D.0.F., 73 3828.1
NODE NO. 15 ‘D.O.F. 85 7656.3
NODE NO. 17 D.O.F. 97 3828.1
THE DEAD WEIGHT OF EACH FLOOR

LAYER NO. 1 4589.760

LAYER NO. 2 28712.410

LAYER NO. 3 23691.300
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THE TOTAL DEAD LOAD =

THE TOTAL DEAD LOAD =

THE TOTAL HORIZONTAL FORCE =
THE SUMMATION OF W(I)*H(I) =
THE CONCENTRATED LOAD AT ROCF =

LAYER NO. 2THE HORIZONTAL FORCE
LAYER NO. 3THE HORIZONTAL FORCE

NODE NO. 7
NODE NO. 8
NODE NO. 13

NODE NO. 14

56993.46

52403.70

D.O.F.

D.O.F.

D.O.F.

D.O.F.

38
44
74
80

THE DEAD WEIGHT OF EACH FLOOR

LAYER NO. 1
LAYER NO. 2
LAYER NO. 3

THE TOTAL DEAD LOAD =
LAYER NO. 1
LAYER NO. 2
LAYER NO. 3

THE TOTAL DEAD LOAD =

THE TOTAL DEAD LOAD =

THE TOTAL HORIZONTAL FORCE =
THE SUMMATION OF W(I)*H(I) =

THE CONCENTRATED LOAD AT ROOF =

4813.200
29159.290
23914.740

57887.22
THE DEAD WEIGHT OF EACH FLOOR

4813.200
29159.290
23914.740

57887.22

53074.02

LAYER NO. 2THE HORIZONTAL
LAYER NO. 3THE HORIZONTAL

NODE NO. 7
NODE NO. 9
NODE NO. 11
NODE NO. 13
NODE NO. 15

NODE NO. 17

D.O.F.
D.O.F.
D.O.F.
D.O.F.
D.O.F.

D.O.F.

37
49
61
73
85
97

THE DEAD WEIGHT OF EACH FLOOR

LAYER NO. 1
LAYER NO. 2
LAYER NO. 3

THE TOTAL DEAD LOAD =

THE TOTAL DEAD LOAD =

4813.200
29159.290
23914.740

57887.22

53074.02

THE TOTAL HORIZONTAL FORCE

7860.555
15104440.000
5000.000

2724.361
15312.570Q

1362.2
1362.2
7656.3

7656.3

7961.104
15269780.000
5000.000

FORCE = - 2771.812
FORCE = 15406.140

THE SUMMATION OF W(I)*H(I) =

692.95
1385.9
692.95
3851.5
7703.1

3851.5

7961.104
15269780.000
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HEHIRMHBESEENSVHE  KSUBFHFHEAEHE @
BERLE » Kk EEE (Twoc-ycle Method )%, HAEFRELABEFE
RSN » HREEES XS BRI L BARGLAE  RE
BES » BERFNEER » BEAREFHEBORSER » Bk
HELAEANPE  RELESEVEATEEESBSTHEREON
BESHE L MEERMEHRAE( UNIVERSITY OE CALIFORNIA
. Berkeley,3California ) BB & TABS %5 » Bt EBAK S
EA s BEEERXE—-HEREANHEE —Rigid Diaphragm - Fifl
PEERR » ERBEREREROMD BIHEEM » BEERSERK » BB
EBHAEHEEABRIT  BRFAFEEMN » EEHMERNBREDEE
FEREEEAERE 7 ERMESENN

— R ERE BB EYOR -E R HRDEBTEBH
220 RIS SRR S K~ 15 WRVER » —BALMERRERFERE !
—BEREEHNER S E - SERENNHRERERERE » 5—EH
BEBAFEHERONE  MELEXKTNEZENHENNETS - HREE
HEEH » R BFES ( out of plane ) Z{THB s MAMNKE
HEEERENBIEA ( in plane 278 HRNFTENABTE »
FRSSEBR ZEXRER AABGEER ARG ENRRE » EHR



FEANTER  MRIRERT » RREFEARAZHEERRFEN 2
B BREARLMEREERZBRE » RIEBLER  BRNSEZESH
R RERI T BN HE  CEESZHGK  finEs +»
world conference on EQ. Enigineering (ZEAEHAE#
BIEEE) RROHRT  TERER GEREBROSE » BT
BEERNPE AANRTHRVERYERMEEEY Y E » MIELH
ge o

1—2 RAAZEERYENYE

BB RIEF AL RERTENY B | EE R » 1R
SHOREBRFERLGD » I B— T4 8K AEES T FERRS
S HRI T » RHERRBRIBA » PGSR T B R
B AERSEREEANGEE » MRS BELR TS » ME
EEMREREES A REALE b RS B £ SR 2

BEOITIE » H— 3 IR2 @A » 7 ABHA » RS DI AE
T BEMSE SN B — e R AT (MBS ) - RS
B > — (B BB R B R » k7S 77 15 R e FE R
A ICRABEZEX » SR AR ENEBH ( Rigid-Body
Motion ) (mE=)

BB E ARG AHI R IRER » MEFDAAREN » ARt
ARREES  RIBSEML 8 ) 2B » ERFROENS S %
357 ( Base Shear ) M MERMKSAI » Tk MR & S8
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@R DE R RMRIE AR R D BYRE
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SPT CPT
Sand E, = 500(N + 15) E, =2t04q,
E;} = 18000 + 750N E,f=2(1+D}q,
E, = (15 200 to 22 000) In N
Clayey sand E, =320(N + 15) E, =310 6g,
Silty sand E, = 300(N + 6) E,=1102g,
Grav:lly sand E, = 1200(N + 6)
Soft clay E,=6108q,
Using the undrained shear strength
s, i unit of 5,
Clay 1, > 30, or organic E, = 100 to 500s,
1, <30, or suff E, = 500 t0 15005,
1<OCR<2 E, = 800 to 1200s,
OCR >2 E, = 1500 10 2000s,
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Young's modulus, E,

Type of soil MN/m? 1b/in.? Poisson’s ratio, s,
Loose sand 10.35- 24.15 1,500- 3,500 0.20-0.40
Medium dense sand 17.25- 27.60 2,500~ 4,000 0.25-0.40
Dense sand 34.50- 33.20 5,000 8,000 0.30-0.45
Silty sand 10.35- 17.25 1,500- 2,500 0.20-0.40
Sand and gravel 69.00-172.30 10,000-25,000 0.15-0.35
Soft clay 2.07- 5.18 300~ 750
Medijum clay 5.18- 10.35 750~ 1,500 0.20~0.50
Stiff clay 10.35- 24.15 1,500- 3,500

EEETHBARKRS BOLABBER EEE NN TERRTL
BE- 265 EAP LN ER0AIEEEEHEMT ©

E, =500 ( N+ 15 ) =500020 + 15) = 17500 K P, &

E. = 18000 + 750N = 18000 + 750(20) = 33000 K P, =&}

E, =(15200 ~ 22000)1nN= 46000 ~ 66000 K P,
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Ela.5 B0 L AR AEBERR 4L E ot BB » 5m
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